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E}zrﬁ:ﬁﬂns (i-3): In the foliowing passage there are (a) inspite of, beyond (b} Without, between
bfaﬂi'g e,m of which has been numbered.

iSm{m a gentle long press of the digit 9 on your

3_';-ﬂx1qtmg mobile phone will send an 5 Py ¢ ;
. : ases of - -- s il ;

..,_anﬂlﬂﬂdidte u to the police as the Government e l}ﬂLEFIE‘:H‘l’[}! . tobcd
- remiader about - o - having a financial plan

~ rolls out the panic buiton :
o and sticking to. it are 1mpurtam
.'.-._.-_-(a) figures _system (b} alarm, gear -

(o) result, steady @ alert, facility i
. SEEHEIS system . ® SEWE What | (d} t‘fn‘d Wh?

2 Citizens can now. . ofvarious gwemment --"-(E} {31] Wh“:h -
- ':3:'_SEI'V1EES by ; up simplified forms a:hat_ E}zrecsmm {6—3 fﬁ} Efad eaab semencﬁ rﬂ ﬁﬂﬂ‘ Gur
. may b : co mpressed 0 a smg[e paper fﬂrmat : whemer there ;5 any gr.&mmanca! error init. The error
(b} pmf’it addmg u‘" an y w,ff! bﬁ* n GH& parf {}f the’ 5&}?{&3{7& a{?ﬁ- number of
mar parf WIH bf f.,-’;-'e aﬂs wer ff fbfre IS ﬂﬂ Eﬂ'{?j“ marﬁ
(;3) 35 L@faﬂswﬂ .

{c} Despute, relatively i} REEEITEHES'% stilf
(£} Notwithstanding, dangerous |

{a) SEEI‘HS when {b} mchﬂe hmw

- '__(a) ﬂpt cleamng
. (€ }‘lﬁld drawmg (d) bﬂnef" t wrltmg
& mﬂkﬁ use, ﬁlllng """"" o s i ... .
;. Amun d dGG d ahbawaias havﬁ started aﬂ::__;.-:=::-_§;:=::-::;;_:'.-Ii was evldem tnatf the man t:auld nnt c:::ntml! ’ms

- Ealied Rﬁ.b Bank t{} _;_ _..:__.'-_:.'_::_:_:_ff.:._-_'_"lf-.;';.'5_:_;f'.:emnnmns as he ﬂiankedf the dﬂnﬂr 8 farmiy f{}I savmg
'cnmm&l wastag& {}f fmﬂd at snczal ﬁm{:uﬂﬂs J::_ﬁ h”“' e .

(a) Initiatlyg prgvﬁn{ (b) assc}ciate stﬂp ?(a) It was emdent that
- © effort, abrupt ----- (d) pfﬂgfﬂm hﬂlt . b the man cﬂuld ﬂﬂ[ CGHH‘Bl

.. (E) attempt dﬂﬂl (E) hlS EH‘!GHEHS EIS h& ﬂ]ﬂﬂl{ﬂd

iﬂtEﬂSE USE ﬂf energy andi'-;__:'_;._; ?f.--":._(d) the dﬂnnr s famﬂy fﬂI‘ sawng hlS hfﬂ

matenais ievels ﬂf pﬂHuEmﬂ are -Z:' - (E) Nﬂ e
lﬂw in dEVElﬂpEd ecanﬂmieﬂ - _ .rr_ur- |
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Eating a lot of/ processed meat can/ led to micro-
matrient deficiencies/ and cause hunger.

(a) Eating a lot of

(b} processed meat can

(¢) led to micro-nutrient deficiencies
(d) and cause hunger.

{e} No error

Children will/ be provided with/ energy-dense oral
autritional supplements/ and medicines.

(a) Children will

(b) be provided with

(c} energy-dense oral nutritional supplements
(d) and medicines. |

{e) Nﬂ_ error

Aided by the cheerful company/ of her new found
friends,/ the actress opens up about/ coming 10 terms
on her father’s demise,

(a) Aided by the cheerful company

{(b) of her new found friends, |

(c} the actress opens up about

{(d} coming m terms on her father’s demise.

(&) No error | | |
Ministers and Officers have been/ asked on refraining

from/ making any statement which could/ damage .

the peace process.

- {(a) Ministers and Officers have been

b)Y aakﬁd on refraining from

(r.::} makmg an},f statement which could

sz o u *{ $iur

(¢} fundamental 18 (dy 18 Iundﬁﬂl;ﬂiﬁﬂ}
(e) No correction required o

13. Many upset fans took to social media 1o

their angst over the secret meeting. |

(h) express their angst

expressing

(a) angst expressing

(c) expressed (d) express angst on

(e} No correction required
14. Depression, clinical or physiological, takes a greal
toll on your system in more ways then oneés.
(by most way

(d) many way then

(a) more ways than one.
(c} many ways and one

(e} No correction required

15. Even the many of diligent and health ﬂﬂﬂﬁﬁ?iﬂﬂS

people end up giving in to temptation.

(a) Most of (b) Every

(¢) Even the most (dy Each of the

(e) No correction required |

Birections (16-25): Read the following passage
carefilly and answer the question. Certain words/phrases
are given in bold to help you locate them wiile answering
some of the questions.

Earlier this year, Indonesia’s president promised 2
‘massive déragulatim}_* aimed at attracting foreign
investment. Outsiders were thrilled. His predecessor, left
the country’s business climate choking on what Adam
Schwarz, a consultant, calls “a regulatory miasma”™ that
strongly discouraged investment, whereas the new
President, has openly courted foreign -:ai}ii'al @Vﬁ:r the

‘past six weeks his administration has umeﬂ&d a Sﬂur:‘:s of

deregulatory measures. The govermment mzaeie 11: easier
for foreigners to open bank accounts, qtruck’ dﬂwﬂ mlpt}rt
resmctmns on gﬂﬂds sm,h a5 tyres and f:f "_metms thaz




ngnetheless seem unconvinced. The rupiah continued its
shide after the first two dnnouncements. It has recovered
some ground fhis month, along with other emerging-
market currencies, but has still falien by 8% against the
dollar this year. Economic growth is at its slowest since
2009. Nobody doubts the new deregulatory measures are
better than _Hﬂﬂliﬂ& but they are hardly “massive”. One
foreign busmessman, long resident in Indonesia, assesses
thesn a8 resulting from “bureaucrats talking to themselves
about how we can be a better bureaucracy rather than
how we can be more receptive to foreign investment.”
For the most part, the President’s new measures remove
regulations that should never have been implemented in
the first place. They neither funciamentaily change
iﬂdunesia_‘s investment climate nor signal to investors
that Indonesia is preparing for bigger reforms.

| Indonesia’s negative-investment list, which details
the sectors that-are barred to foreign capital, remains
sizeable. Hiring foreigners is still a burdensome process:

one rule requires businesses to hire ten Indonesians for -

every foreign worker. Businesses cdmplain that
bureaucrats pass rules hastily, without even trying to
understand their effect on the private sector. A rule
hanning metal-ore exports remains in pilace and will
continue o remain so; it was intended to encourage a

domestic smelting industry but instead has cost thousands

of jobs and billions in export revenue. Infrastructure
development—the centrepiece of the President’s ambitious
economic plans—has begun to pick up, but only after
severe delays, and the programme remains well below

1ts targets for this year. Perhaps most damaging is a

. pervasive sense of disarray. Policies are announced and

. then scrapped, whether because of objections that should

- hiave been aired before, as with a law to force foreigners
-'tﬁ pass a language test, or because they conflict with
a&;@a‘ plans; as happened with a proposed road tax.
I&&imsﬁrlﬂs seem (o pass rules independently, without
tmg each other or the president. Decentralisation—
¢aning a huge devolution of power from the national
gﬁ%&mﬂi@ﬂt to the regional level—may have held the

Eﬁaﬂﬂg Poor communication from the premdent

junds these pmblems The good news, -as Mr
WEEE notes, ~is that couniry has come to an
ftzﬁﬂ aﬂd the Presaéﬂnt has 5&1{1 ‘Lve gﬂt te:u d:::e

b@ %wﬁ&r still. o

| i’ﬂgﬁﬂ!ﬂf in the early 2000s, bfz:tt mda},r it lmpedes-

16.

17.

i8.

19,

Which of the following can be inferred from the

passage?
{a) Indonesia’s new government iz adopt ai
communications about and implementing

SCNeImnes.

(b) Indonesia has too many unnecessary regulatory
procedures anc systems.

(c) Indonesian economy I8 heavily dependent on
exporis of goods like cosmetics.

(@) The current government has no intention of
sruly reforming Indonesia.

(e} None of the given options can be inferred from
the passage.

Why according to the author, are foreign Mvestors
are not attracted to Indonesia?.

(A) Time consuming regulations.

(B) Stock market crash in 2009,

{C) Lack of pﬂiii;is:al stabiiity.

(@) Only (A) (b) Only (B)

(© Al (A), B) &(C) (&) Only (A) and (C)
(€ Only (B) & (©)

Choose the word which is most nearly the same In
meaning to the word DISCIPLINE given in bold as

used in the passage.

(a) punishment (b) specially
{c) order - {d) classification
(&) frain

According to the author how can the Indonesian
economy regain health? :

(a) Putting a brake on s masswe reform agenda.
(b) Removal of concessions o exporters.

" (¢) Stricter control of the private sector. .

(@ Ensure stability by implementing the pzéviﬁus-
government’s policies. '

(&) Other than those given in mﬂﬁﬁ

.. According to the passage, which of the following
~ is/are measure(s) that has/have been impiem

by the present indonesian government?

Ty mmmwmmﬁm&aﬁm

(B Rﬂﬂ:ﬂﬁiﬂg the rﬁd tape fﬁr msm&as‘ =

(C} Opening
fﬂrm@ mﬁﬁm;}t Mt ;

éﬁa} @%} ﬁ {5} |
{ﬁ} Only m & gs::;




21.  Which of the following is the central idea of the passage’
{a} Indonesia needs more meanmngful and developing
reforms to boost economic growth.

(b) Indonesia’s present government is not doing
enough and should be voted out of power.

(¢} Indonesia is headed for a financial crash and
foreign investors are pulling out quickly.

{d) Indonesia’s reforms are too radical in nature
and must destabilise its economy.

{(€) None of these

22. What do the statistics cited about Indonesia’s
economy reveal?

(a) Indonesia’s economy was not affected by the
financial crisis of 2008,

(b) The measures taken by Indonesia’s new
governmeni have ensured economic recovery.

(c) The Indonesian government has not revealed
the true extent of jts economic recession.

(d) Indonesia’s economy is not flourishing at present
dispite the government’s efforts.

{¢} Other than those given as options

23.  Choose the word which is most opposite in meaning
" to the word PERVASIVE given in bold as used in
the passage.

(a) invasive (b) determinant

{c} restrictive {d) insensitive

(e} continual

- 24. Whigh of the following describes Indonesia’ labour
market at present?

~(a) Its labour force is not skilled and foreign workers
are much mm demand.

() It will provide employment to millions of
~ workers in the mining industry.

(¢} It provides the gight of locale at the cost of
hiring foreign workers.

(d) It has implemented an ambitious programme to
skill Indonesian workers.

{(ey Not clearly mentioned in the passage.

25. Which of the following best describes the author’s
view of Indonesia’s attempt at decentralisation of
powers? -

(2} It has been well implemented as the President
cannot interfere at the regional level.

(b) It will foster corruption and has hampered
development of the lucrative mining industry.

(¢c) It has many ministres accountable for thesr
decisions and improved co-ordination among them,
() It is a build move which he hopes will sueceed

when implemented.

(¢) None of these

Directions (26-35): In the gnven passige there are
Blamths. cach of which has beep pambered. A gainst each,
tive words are suggested, one of which 1S b‘}ﬁi' blank
approprigiely. Find out the appropriate word im edoh
LS,

Many multinationals think they understand and haf{:
tried to (26) the serious risks posed by uperating )
China-intellectuai-propérty-rights violations, COIruption.
lack of lransg}arency,'pmﬂ:mial political instability, (27)
one of the highest risks of all Chma’s massive
environmental degradation-is (28) discussed in corporaie

boardrooms,

China’s environmenial problems are (29) the point
where they could (30 s GDP growth. Its State
Environmental Protection Admiaistration (SEPA)
concluded in June 2006 that environmental degradation
and poliution (31) the Chinese economy the equivalent of
10% of GDP annually. This figure is echoed in more
spectfic costs reported m the Chinese press: up io
$36 billion in lost industrial ouiput from a lack of water
to run factories, $13 billion from the desradation and
health impact of acid rain, $6 billion from the spread of
desert regions, and the list goes on

The effect on the population is (32). Already more
than 400,000 people die each vear as a result of the
couniry’s air pollution, according to environmental EXpert
and an estimated 190 million people drink water so
contaminated that it makes them sick. Some 40 million
people have'had to migrate because their local ecology
can no longer (33) them. The Chinese leadership is now
concerned that environmental problem is {34} to social
unrest. The domestic medig repotrted 50,000
environmental protests in 2005, Such protests are usually
small n scale, but some have engaged upwards of 30,000

to 40,000 people, some have been violent, and they are
increasing in (35). '

26. {(a) elevate
{c) amplify

(b) mitigate

{d) cure

{e) relieve
27. (a) Because ) Thus
{©) Yet & Til

© Until



28 (ay aimost
QJ) Sftiinty
{) popularly o s
(d) just
{e) barely
29. (a) reachinp

) bevong

{c} LR LY REEE {dj j':}i n iﬂg

(e} coming

() curl

(drive

(d) CONsirain
(¢) None of these |

3. @
{Q} COst ({i)
(e} None of these

com
pensate (b)) amount

nrice

32, (a; alarming {b) distressed
(¢} countering {d} delightful
(¢) shoddy

33, {a) approve (D) bare
{1 harm () sustamn
{e} survive

M. (@) leadmng {b) causing
(c} appedling () advancing
{e} bulging

35, {a) freguemt (b} number
{Cy  suml ' (y numerical

(e} representation

- Directions {3 5-@@} in each of these questions two

mﬂmﬁ mimoered I and IT are given. You have o solve
both the equations and

{zive answer
@ifx <y
ifx > vy
{E:} if x = y or the relationship cannot be established

(byif x = y
d)yif x = y

%6 L ®+5x+6=0

L2+ Ty +6=0

37, L. x*-12x + 40 = 0
o Ly -1lly +28 =90
38 L X-10x +24 =0
L By 19y + 28 =
39 oL 14x2 13x + 3 = 0
T 99y - 62y + 8 = 0
CMRL 2%t - 15x + 28 = 0
AL 2t -2ly +54=0

Tﬁt}gr& are two bags- A aﬂd B. Bag A Eﬂﬂtaiﬂs 6 red

ramlém Frﬂm the selectv:d hag one ball is drawn

S AL,

:%:&f f&i‘.ﬁiﬂm What is the probability that the bail

42, Two trains running in opposite directions cross a
mar_; standing on the platform in 27 seconds and 17
seconds respectively and they cross each other in
23 seconds. What is the ratio of their Speeds?

(Bl i 3 2
g o i) 1:2
ey 2]

Directions (43-48): What will conwe in place of
guestion (7) mark 17 the following guesitons?

43 - o6l) 2 132 6l 28

(@) 150 (b) 183
©) 84 (dy 292
(€) 274

M. 12 25 49 99 197 395
(8) 789 (by 749
) 759 (@ 649
{e) 799

45. 6 7 3624192
@ L. 3
@9 . . ide
)5 | -

46 9 11 15 D 39 71 s e e
@) 17 -{B}---i-‘;%!
e {d} u€ x
©.8

4 133 64 115 183 ¢

"'.-(a) 18

| (ﬂ 263 b .
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49,

16 18 28

34 7 186

(@) 112 ) 104
(c) 124 @ 8
&) 96

A bank offers 5% compound interest calculated on
half-yearly basis. A customer deposits ¥ 1600 each
on 1st January and 1st July of a year. At the end
of a year, the amount he would have gained by way
of interest is how much?

(2) T 120 ) ¥ 121
(cy T 123 @ T122
ey T 119

Direciion (50-55); What will come in place of (7)

mark in the given questions?

50.

3

X2

35.

12% of 840 x 0.25% of 148
)

(a) 37 b 23
() 29 @ 36
(e) 24 |

(8)075 ™ (4096)°% + (64)" = (8)’
(a) 225 = by 3.0
(c) 3.25 @ 3.50
(€ 3.75 h

17576 X 15 =

(a) 36 (b) 39
(c) 42 (dy 45
(&) 48

4.8% of 550 ~ 3.2% of 750 = 7
(a) 5.4 ) 4.8
© 42 d 386 -
{e) 24

7 +416.= (60% of 920) -110
(a) 576 by 676 .
(c) 784 d 1024
(€) 1156 '

63.5% of 8924.19 +22% of 5324. 42 = 9
(a) 6278 (by 6128
(c) 6228 @ 5624
(€) 6817 |

How many ways are there in selecﬂﬂg 5 members

from 6 males and 5 females, consisting 3 males

~and 2 females?

(2) 200 by 300. .
(cy 400 (d U0
(ey 550

Direction {57-62): Study the followmg graph

carefully and answer the questions that lollow.

a7,

61.

B D om

B Girrs 1FE 148 168 a6¢ a1t - 3
1 feres 750 354 T g gg ]

What is the difference between total number of
boys studying in schools B and C together and the
total number of girls in the same schools together?

{a) 3350 (by 200
{c)} 400 (dy 308
(e}

The number of students (boys and girls together)
studying in school B are what percent less than
that in school D7

(a) 20% by 15%
{c} 40% {d) 25%
(e} 30%

Number of students (boys and girls together)
standard V of school E 18 20% less than those
standard X of the same school. How many students
study in standard V in the same school?

{a) 506 (b) 472
© 420 @ 464
(&) 524 |

Number of studenis studying in school E is what
percent more than the number of boys studymg in
school A?

(@) 48% (b} 52%
() 32% @ 45%
{e) 4% '

What 15 the respective ratio between the number of

students (bG}FE and girls to gether) smdymg in schools
A and that in school C? '

@ 7 : ®) 25:27
©) 2:1 . 23 @ 21:22
€.23:22

What is the average number of girls studying in
schools C, D and E?

(a) 180
(¢} 250
(e) 210

(b) 150
@ 205



L ﬂ 5-63) Sfud}

and aﬁﬁﬂfﬂr fh‘t‘ qUESTions the ff:»'.-’:’fmqﬂg table carefillly @) 17 : 11 & 15

_ that follow - ey £ 1 dy 17 : 12
l_;‘_mi.ff,ﬁi{it::'-_ Tzl l]L'-:_n-]h:_-T__ﬁ;:.‘r_.k:;__[V__f‘_“_f‘—f———q__ (El 13 12
+!‘I1 T':J.L']:ilr_x .-‘a..:m:_-:il.i{l_'ﬂ 'Eca:ra! Mumber | Mumber of fomale 67.  What pﬂftﬂﬂlﬂéi of the total number of fac HH"‘»
11231 e : BTV i e . 3
- Im*“ . Protesar, iy TﬂLtn | aseeiare pfesors i}ﬁfrnbﬂ: 1;;:1 {IHHE.I‘HEErlEﬂ A and B together are male
B Eﬁ-l_-’ 3, L
- D SR L1 1y 1 4[' % (C) 25‘3_{:. (dy 13%
&3 The number m_ﬂx_;;]hh N G s (€) 16.5%
L e SrsiEy A = € Associate Professors in 68, What i;; the difference berween the total number of
S OIS what percent of the number of maie facully members in Universities B and D

female Associate Profece

&) : . : 3 Eh roane v Vi : i e :
() 26% 25078 10 the same unmversiy? tegether and the total number of female faculty

members in Universities A and C together?

© 2% {71;’3’ B (2) 60 b 69
e d) 159 ©) 75 ) 7
©) 2 (ey )

69.  The cvlinder of radms 8m and height 10m is meled

64, What is the average
A : A4£2¢ number :
g down and all the metal 15 used (o recast a new sohid

j ; %4, of Associate Professors
in Universities C and D

o @) 54 together?! cylinder with radius 12m. What is the height of the
o (by 30 new cylinder? (in m)
e (E) 3 () 48 (2) 4 | ) 35
| U 1 5
. 65 .ThE total number of Professors in Universities A (c) 45 () 5
~ and C together g approximately what percent less 44
than the total number of Associate Professors in the © 9
. '_--_-__Sdmﬁ Universities together? 70. The cost prices of two iables are same. One is sold
(a) 37% b) 58% at a protit of 20% and the other tor Rs. 335/- more
() 48% & 429 than the first one. If the overall profit earned after
- . (d) ? selling the tables is 24%, what is the cost price of
e (e} 28% | each table?
. i Wi’}at 1s the respective ratio between the number of (a) ¥ 4400/- (by ¥ 3500/-
~ female professors in University B and thai in (c) < 4800/ (d) < 4200/-
~ University D? (e) < 3820/-

TR T T AT T

_ E}Emm‘mﬁ {71- ?ﬁ} Study the given information P does not face outside. O faces a d1re::tmn ﬂpposﬂe R
E&fﬁﬁﬂ{y 10 answer the questions that follow: to that of M. , G Geiani
. Elght pﬂﬁpl{: L, M, N, O, P, Q, RandS are sifting - How many penpi& sit be‘ween L ﬂﬂd Q Whﬂﬂ Eﬂﬂﬂt&d
around a circular table with equal distance between each Ifmm the 1Ef[ ﬂf Q'} oo L -
other but nm necesganly in the same order. Some of (&) Five '_ . ) N{}ﬂﬁ
them are 1acmg the centre while sum& are fa{:mg {}U‘ISidE . | :.'{c} Fﬂur {c_l)" __ {}m: o
' | | -(e) Two ' |

(.e. away fmm the centre) o . o s , | _ ..
M sits [hll’d to the left of L. (}Iﬂy ﬂ'ﬁ'&g peﬂpk sit ?2 | _‘Whu:h of the fﬂllﬂwmg staf:ements I8 true as ;:.\er the
between M and S. P sits to the unmadlatﬁ right {}f S :. o EWEH ﬂffﬂﬂgﬂlﬂﬁﬂﬂ - |

(@ O faces the centre -
n c:sﬂ:e dlrectmns S
Immediate ﬂﬂigh“ﬂ“m of P face 0pp () Only three peapie sit beiwe&n B anci I

then the DLhEI" |

(i.e. if one meighbour faces the centre .

neighbour faces outside and vice-versa. ) Only one pﬂi‘snﬂ . ©Rsisto the immediate “ght of N
5 - | ' (d) None of the given options is true

81(8 betweenﬁjandﬁ - .
R sits second to the right of O. 'Buth R and N f‘ace' | .?3 . % UN ;;I;;ziﬂfij:z ;::i:io:; ;Z {; .thﬂ Eﬂﬁ .
the same direction as S (i.e. if S faces the centre then_ .
R and N also faces the Cenre and vice-versa.) - (5:) o - - .
Immediate neighbours of Q faces opposite dzrfx:tmnﬂ_ @ - - o
G.e. if one neighbour faces the centre ﬂlﬂﬂ ?hﬁ other _ on - |

neighbour faces outside and vice-versa. )




/4. How many people face the centre as per the given (z) both conclusion £ and AL 4t B
arrangement? (b) sneither conclusion I nor II is Uru€
(a) Four by One (c) either conclusion I or if 15 true
(¢} Two (dy Three (d) only conclusion I is true :
(e) More than four () only conclusion II is true
75. What will come in place of question mark (?) inthe 79, - Statements: Z s H = N £ C 2 M > 81 6
given series based on the positions as given in the = KzC '
arrangement? o | Conclusion I: Z < C
B LR MP SM 7 Conclusion II: G > S
@) N , ©) SO s (a) both conclusion 1 and 1I are ruc
(6] Q) @ OL & (b} meither conelusion [ nor H is true
5] 1o # (c} either conclusion I or II 15 true
76. As per the given arrgngement (3 1s related !fu L n (d) only conclusion I is true
the same way as M is r_ela{ed to S. Following the (e oy dofichision 1T i trae
same pattern fo whom is N related?
80. Statements: B<L <A=M=E;QzM<OD=sL
@ Q by P
© M @ R Conclusion I: Q =z D
© O g Conclusion IL: E < O |
77. The question éi}ﬁsists of a statement followed by (a) both conclusion T and II are true
two assumptions numbered I and If. An assumption (b) neither conclusion Imor II is true
" is something supposed or taken for granted. You (c) either conclusion T or H is true
have 1o consider the statement and the following (@) only conclusion 1 is true
.assmiﬂg}tii‘:ms and decided which of those is/are o drl iRl R i f
mmplicit i the statement? il .
Statement: Bank B has réquested the Apex Baok of Slo Dlutenleits Lo en s e ) _E v
the country to permit them to dilute Government’s Conclusion I: I > A
stake in the bhank to raise funds from the equity Conclusion i: 1 < L
market to balance the losses from non-performing (a) both conclusion I and II are true
AgEeCIE; ~ (b) neither conclusion I nor II is true
Assumption I: The fm?.ds generated by diluting the (©) either conclusion I or 1 is true
Government's stake will enable the bank to recover ) only Sihin Lo
from the losses to some extent. 4 o
Assumption F: Atleast some equity investors will &) only Coucinsion |l Is true
be ready to purchase the shares of the bank. 82. 'Stﬂtemts B<L< A=M2E; Q 2M<O;D<L

(a)} If neither 1 nor II is implicit.
(by If only II is implicit.

(&) If only I is implicit.

(d) If both I and lI are implicit.

{Zuﬂcﬁusmﬁ EL<E

Conclusion II: B < i)

(a) both conclusion T and T are true
(b) neither conclusion I nor I is true
(c) either. conclusion. I-or H 15 true

Direction (78-82): In this question, rejaﬂaﬂgﬁgp
berween different elements 1s shown i the statements.
The statements are followed by conclusions. Study. the
bﬂﬂﬂfﬂﬂﬂﬂ.ﬁ hased on the given statement and select zf}e

BPpropriate Answer.
”?E Gtatements: 7 < H = N = CzM> 85 G

= R > _ g
 Conclusion I: K > H
Conclusion II: H = K

(d) only conclusion I'is trye
{(e) only i:s}nﬂiusiﬂn H 13 'ii’llﬁ |
Direction { 83-85); } Sz‘m&‘y ﬂ%f
&7 mw information
carefully and MWEF .EE@E Mﬁﬁ{?ﬁf ﬁa&f ﬁﬁﬁw

Each of the SEK p@@pjﬁ ;;;& ﬁ
ﬁgffﬂmm I&m e




sBI — Speci

88.  Which of the following may represents the *::{}Eiﬂ
‘growth improve’ in the given code language?

ialist Officer (Solved Pap

(@) le dr = M eson |
. @ sE G enng
VINg may represent the. . © dres . - -
of shirts bought h*-.r L - tie number g9y e given code language, what does the code ‘kx’
- e s farT o o . -
{i : . . . .
(&) 13 . . -
_- ' .. [ cithet 'ltend or Hke o =
Eiia i Eﬁzﬁ ﬂmi‘}ﬁr of 'shms i}ﬁught E}y E is a number  (d) either ‘down’ or ‘d&?eiap&d’
by 3, .ih&r how many shirts does . (&) economic o | |
; - 9. What is the code for ‘agenda’ in the given code
o . language? .
0 @i (a) bp | '
. o _ ' (b) other than those given as options
85. Who amongst the following buys the second highest ) je
nmzﬁ‘sﬁr ofships?2 . 0 | () ms
{a} A . ® E | | (€) dr. -
e . @ B . Direction (81-95); Study the following arrangement
- _:{%} T - | | - carefully and answer the guestions that follow:

' Do 3 hed 0 2 8 {02 3 M 509 p
-_;:mf"ﬁmﬁﬁ {3@-@@} Study the pgiven Information 54 2 3 7 358 5 4 5 0 5 9.4

ﬂ&ﬂ;‘fﬁiﬁjf o answer the given questions that follow- E 1 % '

91. How many such 3s are there in the given
arrangement each of which is immediately preceded
as well as immediately followed by an even digit?

rowith: of developing country’ is written as “gi te () More than three ® One .
ho'. | : @ three - D) Twoo o4 .
":ﬁii}pmg economic conditions agenda’ is written (ﬁ}- Nﬂ}ﬂﬁ, e e

i

':ﬁﬁvﬁlﬂyiﬁ;, ﬂsii ;5 Eﬂﬁﬁd .as “hﬂ .fa E}f in




oo the & vight end of (he mazgﬂmﬁ

{ay 7 & 3
: £} 1 : (@ 5 100,
{e} © |

96. If it is possible to make only one meaningful Enghish
word with the second, third, sixth and ninfh letlers
of the word REGULATOR (using each leiter only

 anice in the words) which would be the second letter
of the word from right? If more than one such word
can be formed give Y’ as the answer. If 0o such -
word can be formed give *Z° as your answer.

{a) A | ® G
) Z @ Y
ey R e 101

Direction (97-102): In these questions, two/tiree
sratements followed by two conclusions numbered I and
H have been g;‘ﬂ?ﬂ You have to take the given stalements
to be true even If they seem [0 be at -variance Irom
conuponly known facts and then detide which of the
conclusions logically follows from the stalements

disregarding commonly known 1acts.

g7 Statements: No second is an hour. All hours are
minutes. All minutes are days. '

Conclusion Iz All minutes are seconds.
(a) Only conclusion [ is true —

(b) kither conclusion 1 or I is true

{c) both conclusions I and il are true
(d) only conclusion II is true

(¢) neither conclusion I nor 11 i8 u“ue

08 Statements: Some ianes are streets. ﬁﬁ Eﬁ'&ﬁ'ﬁ is a
path. All roads are paths |

Conclusion It Atleast some lanes arﬁa paﬂm
Conclusion II: Aﬂeast S0me; Iﬂﬁﬁ& am amts
(b) ‘both conclusion I and I m:a ﬁ'ﬁﬂ L
(b) neither conclusion I nof I’Lm :‘:_' i
() either conclusion I or il i mie
@ only conclusion 1 is true

{f:) {#ﬁ}' conclusion II is true .
rements: Some ends am st:a.ri:ﬂ __

{ﬁ} ﬁﬁw conclusion 1 nor 4 18 44
© sither ponclusion T or 11 s fut

Conclusion I: No minute is a second. 102.

mﬁ:ﬁfy .mf Mwﬁ* E&&qﬂﬁm 5&&: fﬁﬁ@ﬁa

{dy only conclusion 1 is true

(e} only conclusion 11 is true

siatements: All epgines are machings. Some
machines are cOmMPUIETs.

Conchusion I: No compuier 18 an engine.
Conchasion I: All computers being machines is 4
pOSSIDIHEY.

{(z) both conchugion [ and Il are Uue

(b) neither conclusion I nor 11 is true

{cy Eiﬂlﬁf conclusion 1 or 11 15 true

(dy only conclusion  is true

(e only conclusion Il iz true

Statements: No second IS an hour. Al hﬂ‘ﬁ‘i‘ﬂ are
mimies. All minutes are days.

Conclusion It All seconds being days is 2 pﬁsszbﬁa’i}’

- Conclusion I1: All hours are days.

(a) hoth conclusion 1 angd I are truc

(b} neither conclusion I nor II is true

(c) either conclusion I or Ii is true
(d) only conclusion I is true
(e) only conclusion 11 is true
Statements: Some ends are staris. All staris are
finishes. No finish i1s a beginning.
Conclusion I: Atleast some finishes are ends.
Conclusion II: No start is a begu'ﬁung |
(a) both conclusion I and Il are true
() neither conclusion I nor II'is true
(c) either coniclusion I or II is true |
RG] ﬁiﬂ}.’ cﬂﬂﬁiusiﬂn 1 is true
(@ orily miuﬂiﬂn II is tme _
Direction (I @3“1 08): Study the given gﬁﬁ}mﬂﬁﬂ

Ly

e

RLE;




i (b) 8
© ) p
Four of the fﬂi{ﬂ Wilg 8T0ups are baéeﬁ on the given

' to that group? v

(@) RS )
) TS d PU
o g) OR
i@ﬁ Which of the fﬂﬁﬁ%’ﬁlg ;-_.iatemems E@gﬁgﬁgﬂg Q 5 ﬁuﬁ‘?

{a) Q lives on an odd numbered floor -
(B Q lives on the Opmost flgor
{{:} Only two persons live above O's floor

{ag Only two person Iwe E}e tween Q and U
{g;:} None of these |

@ Q o T

.'(f:} Y (y W

R
ﬂﬂ which of the fuiiﬁwmg ﬂnﬁrs does P live?
@) 1 M 3
e 7 @ 5

..___(ﬁ} .
‘%ﬁ?}fiﬁ amongst the following lives on the floor number

() T
) W

Fi T R ReT e

tis - %%’im amongst the following lives on the topmost fioor? |

Sl b

iﬁiﬁ‘o«da&cmg a boy, a girl said, "He is the son of the
daughter of the father of my uncle.” How i the
boy related to the gil?

{a) Hrother

{c) Nephew

{e} Brother-in-iaw
While going to his office Tejveer meets Rakesh
who is related to Tejveer because Tejveer is
Deepak’'s father who is married to Garima. Garima
is the daughter of Rakesh. Garima has a daughter
named Disha. How is Tejveer related to Disha?
{(2) Uncie (b} Father-in-law

{¢) Grandiather {d} Brother-in-law

(e) Niece -

In a certain code, ‘STYLE* is written as ‘HHEH]
and ‘BLUNT’ is coded as 'DNVLR' ., How is
‘MOULD’ coded in that code?

&) Uncle
@ Son-in-law

14,

113.

(2) KMVNF () OQSNF
(c) OMSUR (d) KMTNF
(e) OQVIB

Eiirections (116- 1208 Read ihe following mformation
carefully and answer the questions that follow:

At a parﬁ:y,ﬁ, B, C, D and E are sitting in a
circle facing the center. The group cOomprises a
prafessor, an industrialist and a businessman. The
businessman is sifting in between the industrialist
and his wife D. A, the professor is mafried to E,
who is the sister of B. The industrizlist is seated
to the right of C. Both the ladies are uﬂﬁﬁlpiﬂyed

116 What is" A to B?
{3;} Brother {b} Uﬂﬂiﬂ_"-
{i‘.‘:}-- Brother-in-law () - Can’the determined
() None of these = o e

117. A js sitting fo” the ﬁght of. '
(@) the iﬁdﬂﬁﬁ‘iaiiﬁt {%3} s wzf@
(ﬁ} ﬁaﬁa of: thasﬂ ;

Hﬁ ’ﬂ?}m 13 m ﬁﬁiﬂsm;ﬂ‘?




121

122

123.

124,

125,

126.

How many types of dimensions exist in Cloud cube
model?

@) 6 (o) 3
() 4 @ 2
el

System analysts work with end users to determine
the features that must be included in a new IT
application. These are called

(b} requirements
(d) core functions

(a} implications
(c) effects

. {e) critical processes

What is full form of SOA, a method to improve
availability in ITL?

{(a) Service ability of Applications

(by Service Outage Analysis

{¢) Service Offer Adjustment

(d) Systematic Operational Adjustment

(e} System Optimization Appfﬂ&ﬂh

Which of the following is not & Web Ag}p interface
mechanism? :

(a) Cookies
{c) Browser
(e} Links
Which of the following is true of three-tier data
workhouses?

(a) Once created, the data marts will directly

 receive their new data from the operational
databases. ' ‘

(b) The data mart combines all the tables of the
data warehouse.

k

(by Forms
() Cookies and Links

(c) The data marts are different groups of tables in -

the data warehouse.

(@ Once created, the data marts will kaep on being
updated from the data warehouse at periodic
times. ‘

() A data mart becomes 2 data warehouse when it
reaches a critical size.

Which of the following can h_ﬁip_ {0 de;tﬁ;:t

fransmission €rrors by appending -speaf}azz}:

calculated bits Mo the each segment of data:

(a) Parity check (b) Integrity check

(¢} Accuracy check
(e} Completencss check

127.

128,

129.

130.

131

@ Redundancy check

e

=

SOL security issues include which of the following?
{(a) The compiexity of key structures

(b} The number of records

() the size of datzbases

(d) The number of candidate key elements

{e} granularity of aéminiatrat%un

L + - : ; .".:|.
What is the technical name of a wireless network”

(a} S5ID by S86
(c) WPAD (dy WPA
{ey BSSID

If you are connected to your internal network, what
should you check if you cannot connect to with

servers on the internet?

(a) Administrative rights (b NTFS permissions
(¢} Browser setungs {d) Proxy setfings
(e} UAC

To define what columns should be displayed In an
S50QL, SELECT statement

{a) use USING to name the source table(s).

{by use SELECT to name the source table(s) and
list the columns to be shown after USING,

(¢} use USING to name the source table(s) and list
the columns io be shown after SELECT.

(d) use FROM to name the source table(s) and list
the colwmns (o be shown afier SELECT.

(¢) use USING to name the source table(s) and list
the columns to be shown after WHERE,

Which method of database recovery involves frequent

simultaneous copying of the database to maintain
two or more to complete copies of the database?

(a) Rollback

(c} Reprocessing
() Rolling
Which of the following is a CASE SOL statement?
(@) A way to establish a’data daﬁnitiqn in ‘SOL.
(b) A way to establish an IF-THEN-ELSE in SOL.

(c) establish a loop in SQL or agt&bﬁaﬁ an -
THENwELSE in SO '

{d) a way to estabhsh a iﬂﬁp in EQL

() a way 1o Eatabhsh a data definition in SQI of
establish a I&ap in SQL

(by Mirroring
- {dy Rollforward

e




%. Tednl ﬁﬁﬁiﬂ% y'{ﬁ.i mm& Gque

RMAN Etf}fﬁﬁ scripts?

- {&} Black box test () Design and code
{g} Stmr::mrﬁd Waik ﬂ}rﬂugh () Green h{;}; s.f:ﬂﬁng
{e) Desk checking

";%?im:h of the f@liﬁwmg accesses the database and

ﬁaza dﬁﬂtiﬂmr}f i a database as jaay E},aﬂi on A
Eiﬂfagﬂ device?

(a) DBMS engine
(b} data administration system

{c) application generation subsystem
4;5,} data definition subsystem

.;{@} None of these

j':-._:_-_’&;ﬁfimf is a reliable technique for estimating the
'iﬁi_:ﬁim and cost of a Sﬁﬁwarﬁudewlapmﬁm project?

(1) PERT

() GANTT

{c); Pusiction Point Analysis (FPA)
@ Regression

ﬂ}i‘?ﬂamrﬁ Point Aﬂ&i}fﬂis (FPA)

ﬁﬁ&ds to be considered when constructing
_ﬁ@p E‘&W@I‘ side configuration hests'?

Iy in {}faf‘i& 1o display 139, The fﬂﬂm@fiﬂg transactions are being posted (0 the

¢y Spiral

databbase when processing suddenly comes © a hait.
The miﬂgrﬂy of the transaction processing is best
ensured by e

{2} accuracy checks

(b} database iﬁtﬁgrﬁ’y checks

{c} inpuf controls

~ {d) validation checks

(g) database commits and miih&ckﬁ

140, Which one is not a phase of the systems developmentt

life cycle?
(a) probiem analysis
(b) decision analysis

(c) requirements analysis

(d) post-implemeniation review

{¢) scope definition

141. Who is more concerned about the conceptual Eﬁw._éi

at DBMS?

(a) The system programmer :
{(by Database viewer

(cy DBA

{d) The end user :

(€) Client

142, The simplest model in software development 18 :

(® COCOBC model |
(dy Waterfall model

(a) lerative

(e) Prototyping

143. Which of the following are effective controls for

detecting duplicate transactions such-as. @&Wﬁﬂﬁ
made or réceived?

(@) Time stamps -
(b ﬁaﬁmmzmﬁf cﬁiﬁm}s
{f;} Rﬂfﬂrem zﬁtﬂgmy ﬂﬂﬂﬂ'{}is

......



146.

147,

148.

: _'149;

150

fa) Cold site

Lo(d) Parallel

W {d) S-HTIP

(E) passive FTP

A thin, credit-card size device used principaily on
Laptop computers to expand its capabilities 1s

(h) smart card

(@)

(a) special card

(C) expansion card {lash card

(¢} PC card

in the concept of object orientation,

{a) Users change properties and cell functions

(b) Designers can only call functions

(c) Designers can only call calculations

(d) Users change properties with their input devices

() Designers convert binary data inlto object
functions

Which OSI layer defines the standards for cabling

and connectors?

{a) Layer 5, 6 or 7 (b Layer 3
{c) Layer 2 (dy Layer i
(ey Laver 4

Of the three major types of ofl-site processing
facilities, what type is often an acceptable solution
for preparing for recovery of nomncritical systems
and data? L

{c) Altemale sife

EffEEtl}fEHﬁSS o

(2} Paper . - @

(c) Walk-th mugh

151, Eﬂata mmmg is used'g;-_;

3 erucd by
y}_r'-.:ttnrmg_

(by Salam: attack

(cy Data corruption
(dy Dala diddling

(¢} Data Manufactunng

153. Which of the following provide network redundancy

in a local network environment?
(ay Shadowing

(b} Mirroring

(¢} Mirroring & Shadowing

(d) Duplexing

(e} Dual backbones

154. On point-fo-point networks, ODPFE heilo packets are

]56 thl:h

addressed to which address?
(ay 27.0.0.]

(b 172.16.0.1

() 224.0.0.5

(d) 192.168.0.5

(e) 2242552557255

The first phase of sofiware development is

R T e e i s B o e P AT R

(by Coding
(d) Design

{ﬂ} Testing
(c) !mplununmmn

(L} !{Lqummuu dndlysm

':.'.--4,:.,ri_pling'--]a;nguﬂge? "




- AR ATIOR

(3} Delete. Insert
{£) Select, Revoke
(&) None of these
'_159* Which of the tollowing iy

| | 5 & primary high level
used when reviewing , 8yste ~

B Seteet, Update
{«h) Grant, Revoke

{a) Ensure that business objectives are achieved

(b) Ensure that proper approval for this projest
has been obtained

(¢) Ensure that Programming

‘ and processing
COVITONMEN(S are segregated

(@ Ensure that projects are monitored and
administrated effectively
(€} costs have been idenified correctly

160. Which of the following codes must be granted to an
~ Oracle 9x to perform a full database mnport?

(2) CONNECT
(p RESOURCE
(¢) FULL REPORT PREVS
' (d FULL REPORT PRINS
(&) NP FULL DATABASE

161, The Oracle environment of database is called as

(b) Dhata structure
(d) Daiabase schema

{a}l Data types

.({.‘:) Database instances
L (¢) Data values =
‘162, Which of the following are true of Enterprise
- Systems? | |

b {a) They include servers, databases and networks

() They require sﬁeciaiiz&d computer hardware

" {¢} They are limited to access within the physical

{d} They require special locations

(@) They require specialized compuier software
::5 at does CIDR, a method of aliﬂcating P

:"_ss»as , stand for?

{%) Classless [P Defiult Routing
&) Classful IP D-class Routing
'.-fgl:"":{l‘%assiesa 1P D-class Rﬂutmg
%}ﬁgﬁsﬁﬂ Information R{}uaﬂg

ey 3t iﬁf.‘.‘?ﬂde whiﬂh'{}f

1t development project? -

164. What tool is used to view the hardware and software
ioaded on a Windows server? |
@) KB Tool (hy System Information
{(¢) System configuration () POST

(¢} Device manpager

165. Which of the following i$ not one of the objectives
of the WebApp content festing?

{#) Identify linking errors

(b} Uncover semaniic errors

(c} Uncover syntactic errors

(@) Uncover semantic and syntactic errors
(e) Find organizationzl or structure errors

166. A server farm is an example of
(b} Redundant servers

() Stand-alone server

{a) Multipie servers
{} Server clustering
(¢) Serve fauit ioierance

167. Map entries, atributes and relations in Oracle is
represented by

{a) Special Schema

{by Conceptual and Physical schema
{¢) Logical Schema

(@ Physical Schema

() Concepinal Schema

168, Which of the following cloud concept is related to

posting and shaning of resources?
(b} Abstraction

{d) Polymorphism

{a) Visualization
{c) Virmsalisation .
{¢) Collectivism

168, A systems analysis test used io display how data
moves through a new program design is called a(n)

(a) data logic chart

(b dataflow diagram

{¢) system flowchart

() software logic diagram

{e} web-relaconship illustration

0. Which one of the following control steps is usually
not performed in data warehousing applications?

{a) Monitor summary tables for regular use.
{by Cleaning up the data. :
(¢} Control meta data from baﬂag used inferactively.

{d) Reconcile” data moved h@twm the wm
environment and data wmm

(&) Monitor the data wgmg %’-ﬁﬁﬂ

£
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